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A rectangular patch of bark of about 3 cm length and 1.5 cm is removed from root
stock and same size bud wood is prepared in scion is

(A)  Shield budding
Patch budding

(C) Forket budding

(D) Ring budding

(E) Answer not known

&gy augeuons 3 Qe Berapd wHmid 1.5 G@s.i5 &I&GO(I_.,DLB e LW gamenL CeurdGeaguie
Bobg 058 <Cp slare) gan® snus Aeguiod surfiss Ui s Gag

@A) Gauelh |

B) gl ¢ 6

©) eag @

D) Curlly @@

EB) oL Asfudddme

What is the other name of “T" budding?
(A) Patch budding

(B) Ring budding

(C) , Forket budding

.M Shield budding

(E) Answer not known

T wpeop Gml'_@é; sl g CGeumy ereucuny iempsaiiLiBEpng) ?
A)  eLB Cur@wb weap

B) wo gLl

C) saagl@

@) GsLu gLl

(E) Gﬁl@!; Qg flwelldeane
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3. A branches of a plant show change and different from rest of the plant called
J Bud sport
Sudden mutation
(C) Spontaneous mutation
(D) Gene mutation
.(E). Answer not known
@m deer wrsHer wHp HeeruleBHg Ceaupul () sSTETLLLLTO g eTeleUT
SMP&SLILHE DS
(A)  Qurli@ wrHpbd
B) &Gd wrHpb
(C) Gpprsre wrHDD
(D) gan wrppw
(E) oler Qgflweidvene

4. In which method a bfanch 1s covered completely in soil to strike roots?
(A) Stooling
M Etiolation
(C) Gootee
(D) Mounding

(E) Answer nolt known

g dlegivar Qarudumés papuld wpws Haeruyb wareflad apLrL@amer?
@A) sréwvmar LD | '
B) geafllldeor udwb
(C) &l
D) wer Gelwd ug;m
E) Ao Asfuddame
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5. Application of fertilizer along with drip irrigation is

M Fertigation

(©)
D)
(E)

Fumigation

- Trickle irrigation

Sprinkler irrigation

Answer not known

Qe @ Bi unsadgILar 2 TH@s LI GES SeNEED e

A) QuigCager

(B) GQL&G&B&G‘&T

©) yhsdle vnsand

(D) Gg,aﬂuurrmésr ;’Br‘n.‘:urf&anb
(E) ol Qzflweildenaw

6.  Storage temperature of banana is

J 12.5-145C

B) 85-95C

(C) 105-11.5C

D) 45-65C

(E) Answer not known
aurapliLsams Callss weausss @b Deuliublae ererer?
(A) 12.5-14.5" Qsedlwen

B) 85-9.5 Qsodlwev

(C) 10.5-11.5" Gsodwev

D) 4.5-6.5 Qsodwa

(E) clen Gz flweldrensy
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¢ The most common raised green manure crop in crop rotation

9’

©)
(D)
(E)

Sunhemp
Gliricidia
Neem
Pungam

Answer not known

<18s serefled, Ll spHfud 2 uCursl UESSILGD LSHSTET o yruudr

A)
(B)
©
D)

gswrl;rs&)u
Henerffliguim
GaeulbLy

L mi&LD

elen Gsflweidvene

8. For planting of fruit crops the soil depth should be

oS
©)
D)

(E)

3.0 metre
2.0 metre

1.0 metre

- 0.5 metre

Answer not known

urudirser phHeushE wamaniler b erelcuerey @) (mdss Geua(Hb

(&)
B)
©)
@)
&)
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9.

10.

The horticulture crop products used as food adjuncts to add aroma and flavour are

called as
(A) Bevarage crops ' (B) Mastigatory crop
\d Spices _ _ (D) Plantation crop

(E) Answer not known

GesriLssma Gummlser 2ame swrflulded LwETUESSID C]urr@gg DEWTD  DHMILD
bOIEFEMeU SMHLUME ereueuTm iemp&siiubhidlermer 2

A) Gubin uiser _ (B) Queogid Luiser

(C) eungeary uliser (D). weved ComiL i uuigser

(E) &flen Gzfwellcvenew

High density planting was first established in which country?
(A) .India' | |
Europe
(C). America
D) | Africa

(E) Answer not known

SiHE ST B PO WPSETAPSHD TS BTl 6 ﬂeﬁuprﬁ)uul;ng?
@)  @pHur

) G

©) é{@mrﬂésasrr

D) uldfssr

E) e sfudomn
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11. The simplest weeding tool is
(A Spade ' - J Hand hoe
(C) Weedicide (D) Tiller

E) . Answer not known

gener r(H&s 2 gajb s eraflu 2 LsTERTD 6TF ?
(A) werGeul g : B) seasQsnsg
(C) samearsCsmaed D) geoveoi

(E) &l Qsflwaeiicvena

12. Most of the weed plants excrete certain chemicals into soil which inhibit the

germination and growth of other_plants-in their vicinity is called
(A) Homeopathy
& Al
© Aut‘bpathy
. Allelopathy

(E) Answer not known

Quigieuns Siarsg soar QegsEnhd @@ dgwrer Qrreuamsas daefuu@ss iger

imdgarar Lulisefier wereruy wHmI aeriéflew urdadng. BSOS
ereTm Gum(mer.

@A) GapmAGUTLA
- B) =0Corud

© Gl

D) odCorS

B oo Opfuciome
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13.

14.

Match :

Irrigation Method ' Irrigation efficiency (%)
(a) Wild flooding 1 60to65
(b) Cherk basis 2. T70to8b
(c) Sprinkler 3. 85t095
(d) Drip irrigation ‘4, 20t025
() (b) © @
(A) o1 4 2 3
\M 4 1 2 3
€ 2 4 1 3
D) 2 1 4 3
(E) Answer not known
QuUmBS3)5 :
. ungRTPEND , unser Sper (%)
(a) B Casggd/ureud ursand 1. 60— 65
(®) seo_ utsd e : 2. 70-85
(© Qsefly B 3. 85-95
(d) Qs @ Hir 4 20-25
(a) (b) (© (d)
A 1 4 2 3
B) 4 1 2 3
©) 2 4 1 3
D) -2 1 4 3
(E) e Qsflueome
Pick up the moisture sensitive periods for banana
(A) Flowering '
(B) From the commencement of fruit set
(C) , Flowering, Fruit setting, Fruit growth
- Early vegetative period, Flowering and Fruit formation
(E) Answer not known :
aureppriLifler warr FrULgSShasTar e i Haesdr og
A)  ysEb Lmeub '
B) &smu YgEEDL LmHaUD WPSH
©  ysEb uma, ST EsD, L aeriéd
D)  =ybu et UG, YEGD LA, ST 2 (HauTEh LHeuLb
(E) den Qsflwefcrene

9 - AHOD/2021
[Turn over



15.  Acid soils can be reclaimed by application of
(A) Calcium chloride | (B) Phospho gypsum
Lime (D) Gypsum

(E) Answer not known

Lo esoremfl i aqﬂsv,&,g,drrsmmemu & Qe : 2 LCWTEU[HSSOTLD.
A) Gsodwbd Carmery( (B) umevGur gl
(C) &awemrmidy D) Husn

(E) dflen G]g,lﬂu_laﬂsi)ma)

16. The nutrient conteﬁt in complex DAP fertilizer
j 18:46:0 | B) 16:48:0
(C) 18:46:18 : _ (D) 16:48:16
(E) Answer not known '

DAP sauy 2 5sléd o drar apsdlwioner oar’ L& sSgIsGatian sarey
(A) 18:46:0 - (B) 16:48:0
(C) 18:46:18 - (D) 16:48:16
(E) dflev Qsflwaefcrenen

17.  The process of conversion of organic to inorganic nitrogen is called
Mineralization . - (B) Immobilization
(C)  Volotalization . (D) Leaching

(E) Answer not known
sflo sowsss saflbgmpssssns wimb Heaws@ Quwir eerear?
(A) seflbbwwrssed (B) soowssg iemswrebwnsEsea

C) sowsss elunsed - (D) soysss awflECasrhised
E) odeor Qsfluaidma
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18.

19.

Match the items in Column A and Column B.

Column A Column B
(a) Straight ferlilizers 1. Azospirillum
(b) Compouhd fertilizers 2. FYM
(c) Bio fertilizers 3. Urea
(d) Manure _ 4 DAP -
@ () © @
(A) o4 1 S 3
3 4 1 2
0y ¢ 3 1 . 2
D) 4 2 1 3

(E) Answer not known

Blyed A wpmid Slyed B eows Quinpggs.

Hlye A . Hlyer B
(@) - Cprg =g 1. <|Csravenuflebeid
(b) sely 2qb 2. Qs 27
(¢) <= 2 gw 3. g}rﬂu_frr'
d Quipes 2qbd 4. lg..67. 4l

(a) (b) (c) (d)
A) 4 -3 g 53
(By. 3- 4 1
C) 4 3 1
(D) 4 2 | e
(E) oflenL Qasflwuaficrenay

LW

Bone meals are generally high in nutrient content of

(A) Nitrogen _ @& Phosphorus

(C) Potash (D) Zinc

(E) = Answer m_)t known

THE URSWLITET ol L5a5s araIbLsgasas @ifls sereld o drarg

(A) S F5F) B) wvaflsssg

(C) smbu 555 (D) gssprs s53

(E) elenr Qzflweidene
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20. The temperature of the ————— soil is always higher than the air temperature.

(A) Subsurface (15 — 30 cm) g Surface (0 — 15 cm)
(C)  Parent material : (D) Bed rock
~ (E) Answer not known :
srpiler Qeutiufleneenw eflL, weireanfler ENTOL T3 Gmuuﬁwm 2 FONEE
SmewTLIL(hLb.

A) @ua‘an_rra.lgj 21(0&@ (15— 30 Qe.8) (B) @p,sw,!(ﬁl.osu .;m@a;@ (0-15 Qs.15)
(C) urepWS@Bs 2 (Feurer gaarsar (D) LT
(E) oferr Qsflweidene .

21.  The upper limit of water availability to .plant i =
(A) Maximum water holding capacity J Field capacity
(C) Wilting point _ (D) Available soil moisture

(E) Answer not known

warranfleh LU\ mEE Ve oiHs ameﬂeb-far‘r SlenL &8 Faiqw Hlenew
(A) B gmagb Cudrdmas Spar  (B) warafle S Qerardper
(C) b eurd eTebemen (D) wvearaféd deLés Falqul Hir

E) Ao Opflucddme

- 22.  Soil textural determination is based on ———— law in international pipette
method. ; :
(A) Darcy’s law (B) Beer’s law
M Stoke’s law (D) Lambertz law
(E) Ax_lswer not kr_lown A
siauCGse 10QUL apenpulied, mmmﬂsﬂ "r_r,u.lg;mgs seRrL_Hleug cllflepwits
Qerund enwdng. ;
A)  vridl & (B) S &
(C) wGLrsev &g (D) embuiev N

€  de Osfuddns

AHOD/2021 . 1 = o



23.

24.

0 ol iasstracted from ———— plant.
(A) Coconut %
(B) Date palm
d Moringa
(D) Oil palm

(E) Answer not known

Queir ,ufled wrsd@ps 9IN505EssULEAHDS.
A) Qgerener
B) Gufsas
© vouws

D) <y uled Lienar
® oL Osfudome

Die back and Fruit rot in chilli can be controlled by seed treatment with
4) Fytolon '

Mancozeb

“ Thiram

(D) Difolatan
(E) Answer not known

Beramder LY SiWsDd LHNL HeNs HEHED Corews EL®U®§§ - gy:eu.fo
leng Crigd Qe Geuam®ib. .

A) eurCGLremer

@) ConCanGen

© B
(D) as)l_Gurrsm_rrGhT

E) odo asludome
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25.  The economic part used in cabbage is et
(), Stem: . = ~£) Leaves
(C) Fruits - | (D) Flower part
(E) ~ Answer not known

Ll &Gamerdled I_I.LIJG%TII.J@L‘D' L& ; »

_(A) S (B \ - B) Qoo

© ugo ' LD
(B ofler Qs flueldame '

26. . Pusa Reshmi isavariety_in _ |
(A) Cabbage 5 ' (B) Cauliflower
(C) Carrot - G Radish

(E) Answer not known

e Grevll eretug erbs Liudlfled @@Hﬂuﬁ]LDULL @l}&;fﬁ
A) Lo &Csmed : B) usCams
© Gay . | - (D) ererid
€ e Osfuaidma |

27.  Production of vegetables in out of season in glass house is calied

' (A) Kitchén garde_ﬁ o - (B), Market gardening
(©) Truék garden S % Vegetable forciﬁg
(E) Answer not known .

 upadeoers  uGsHo,  sdaTy smLmasei®  srush  sr@uy Qe
T BePSEILIHID. :

@A) &S EsCsTLD (B spws Geriind
©) euergs Gemiid D) smiusd Gumrrd
(E) oL Opfuciome ' '

AHOD/2021 3 14 ' . : o



28.  Assertion (A): Spraying NAA at 20 PPM improves fruit retention in mango.

Reason (R): High rainfall prior to flowering induces vegetative growth and-
arrests flowering in mango.

A Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B) (A)is true, (R) is false e
(C) (A) is false, (R) is true _
(D) Both (A) and (R) are true and (R) is the correct explanation of (A)
(E) Answer not known
gl (A)-: or wrisefld 20 9.9.aw. GQedeller erer.g.qr Gzeaflliuger ppad smil
Yyssoe idsfss Quab. '

smpad (R):  om wymsefldr ysew u@esdne e 2fls vy Gumfe), s
euariéfleow earsaliLBSS, U, 2 pusdeaw 50565 NH\D.

tA) A) wopbd (R) @Qranpwn &f, gemd (R) earug (A)-efpeg eflurar alleadsd
2iehev.

B (A sl e R) ey

© (&) sop e (R) ofl

D) (A) wpgd (R) @ren@d &M, Guogib (R) aarug (A)-elpe sfurer efarésio.
(E) oo Qsflweievenad

29.  The scientific name for jack. fruit is J
(A) Ananas Comosus Artocarpus Integrifolia
(C) Garcinia Mangostana (D) Persea Americana

(E) Answer not known

ver upsdler sreureiiwed Guw ererer?

(A) amaey CarGumsen (B) <iCGLrsriuen Qe sNCumelwm

(C) smiflaflur wriEGavgTarT D) Quiflwr oQwh&srernm

(E) oflen Qzflwellerenew

) ' ' ' 15 AHOD/2021
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30. Hill Banana belongs to which of the following genome group?

A)  AA
(B) AB
(C) AAA

& ann

(E) Answer not known

LﬁGDGDGl.II‘I’GE)Q ng@mmmg)ym THS LTUER UMEMWE FTTHSS] ?

(A AA

(B) AB
(C) AAA
(D) AAB

(E) &llen Qgflwehlevens

31. The variety of banana grown in lower Pulney hills of Tamil Nadu is
. (A) Ney poovan . .
d Virupakshi
(©) Dwarf Cavendish
(D) Red Banana

- (E) Answer not known

Spupe Lol LGHseid eleenyb woT®EY @Tsb
A) QOpur Yeuer

B) -+ &imuum &

©€) ©sLre EBIT-@JGWLq.GESp

D) Gseaueumany

(E) aS'i;;mL Qzflwelldena

AHOD/2021 16



32.

33.

Nagpe the plants suitable for boundary planting

®B)
©)
®)
(E)

Agave americana
Eranthemum elegans
Pisonia alba :
Allamanda grandiflora

Answer not known

Gaudllaans pLiL@D Qg uler Quuir Greﬁasr?

@)
(B)
©)
D)
(®)

2056 QwNssmerm

JgunhSwid erelseen

euGsreflum o dum

eownerLi SyreprigGamym

e .Ggrﬂu_lezﬁlmmm

called as

(A)  Wreath

(B), Bouque
J Pot Pourri

(D) Wall Hanger

(E) Answer not known.

‘Developing a mixture of dry flowers parts with fragrance for keeping in room is

QuTF@ENETeT 2. @f LT somamu, 6iLh Smpsaid ausst LwaTLEGS IS

A)
®)
(©)
®
®)

ererliL (hLD.

LDGOIT GUENETWILD

; Wi Csrsg

ume
FOUNT GUMRISTTLD

dlen Qgsflwelerenen

17
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34. Group of plahts that complete its life cycle within one year is
(A) Biennmials |
(B) Herbaceous pla.nts
(C). . Shrubs
: d ~ Annuals
(E)  Answer not known
alag gpewd @m@%ﬁﬁ Qoiig @G QELD SAODF GG LGUSHDST QUeTifg) T
gmug,ej,] G&Lug] @mis lHib QELq_&G\T Greueum) &Gmggasa;uu@él,m@? :
'_(A) emuuaﬂumsm
B) QeniCuAwev Gerraiei
@ Sme
D)  =icrgeuded

(E) eflanr Gg,rﬁwm‘ilsbmsu

'35.  An ornamental climber is
(A)  Acalipa . :
M Allamanda
(©) . Hibiscus
.(D)' Nerium
(E)  Answer not knéwn.
211 Gamy. @ma;mu.t &rrr'r(rir;g,gj aTgl?
(A) é)iaarreﬂuf-r '
B) am@naﬁrl_n
(C) Qsbumsd
@) el
(E) aflenL Qg flwelcvene

AHOD}'2021 : : . 18 = . =



36. Choose the correct combination of primary colour in gardening
(A)  Yellow, Orange, Violet
(B) Red, Yellow, Violet
M Blue, Yellow, Red
(D)  Blue, Yellow, Violet

(E) Answer not known
I-cg.qu@r, Ca Léssamasd sfluner (padow adrammsamer Cgiel Qawis
(A)  LEHEET, TEHE, H(hH EAST
(B) Seuliy, DEHEET, &(H 2asT
(C) oergm, wEpeer, sl
(D)  eeargm, LEHFET, SHATST
(E) oo Qsflweidweme

37. ———isthe architect of Chandigarh.
- (A) , G.S.Randhawa

J M.S. Randhawa

(C) Le Notre
(D) Lancelot Hogben

(E) Answer not known

FETIGHET GUqEUNLDSSEUT

(A)  g.erev. gHsmeUT

B)  erd.erev. gHsTIT

(C) & CpmCy

(D) CoeardlGarl anré6Lier
(B) der Asfluciome

o - | 19 AHOD/2021
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'38. In Rose after pruning, the cut ends should be protected with
Bordeaux parte |
(B — Carbéndazim
(C) Neemoil
(D)  Dimethoate

(E) Answer not known

Grrggrelled seumsg) Q&ﬁug,a_u_sh Qeuligw uGSHew UTHETES 'sfs&rsm Qauw Geuar(Bb ?
(A) CumiGLr uens |

B) sriuear_fib

(C) Geutiu erar@ewis

D) @ blCemGuir

(E) e&llerr Qsflwelerenaw

39. Prajwal is a variety of
(A) Gerbera
(B) Neerium
(C) Rose

l{ Tuberose

(E) Answer not known

Grseumed Gf;_if,g; uulfler @gawn

@)  Qgiugn
B) =yef
(C) Cymgr
D) esvpumS -

(E) alen. Gz flweildene

AHOD/2021 20



40.  Which chemical is used as Fumigants in Carnation cultivation?

% Dazomet

Methyl Demeton
(C) Abamectin
(D) Imidachloprid

(E) Answer not known

sriGanger snguUWie s wmHg G WCasear Qeiwu LwaTLESH DS
A)  QrenGu |

B) Bswze Aol men

(C) SunQwég.er

D) @VOLrECarmaf

(E) eflen Qg,rﬂu.mﬁ]ebemm

41. Friendship is a variety in
(A) Anthurium |
(B) Carnation
(C) Rose
Gladiolus

(E) Answer not known

Yyemevdls eramp 7&b 6Ths U, QFguied o drerg ?
@) eparfun
B) smiCGarser
(©)  Gyrav
D)  Senmg Cuimae
L EEEN
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42.  Agricultural processed fruit products export development authority is located at
(A) Bangalore (B) Mumbai
(C) Varanasi : 6) New Delhi

(E) Answer not known

Geuermainr 2 ava|ll USLLHSESD ghmind eueriFéls s QméEGn Qb
A Gurs'ua;@g@ (B) @pwenu

(C). eungarmdl ' (D) ysi geed

(E) aﬁ]_ss)l_ G]gsrﬂmsﬁld)ma)

43. The Aromatic crop which thrives best in hot and humid conditions under shade of

rubber, coconut etc is
(A) Lemon grass
(B) Geranium

(C) Palmarosa

(J Patchouli

(E) | Answer not known

Qeutiu wHgd FIL uGSsafie, @ruui wHpd Cpatear Hpodsaie euaTFésmigw e
oL Qb Ludi : '

A) ea@uiiFms Lo

(B) QgCrafwbd

(C_) LndioCriren

(D) wsQserefi

(E) e Qsflweiidvene
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44.

45.

Which one of the following aromatic plant having insert repellent activity?

(A) Citronella

V Lemon grass

(C) Palmarosa
(D) Vetiver

(E) Answer not known

&G Qarhssiiu_Berer L6 cumsasaild ag UFfl el b serew Gsmerg) ?
@) ACrrQaden

(B) ea@uildms e

© umoGyrer

D) QGUI;Lq_GQJﬁ

E) oL Gsfudome

Senna variety released from Tamil Nadu Agricultural University is

(A) KKL1
B) PLR1
(C) PKM1

& v

(E)  Answer not known

s8PEIEH Ceuarmamemn Lbsm®E SPasHdmHg Ceuallbtiul L Qeerart rsb org ?
(A) CsCsered 1

B) Gadsyi 1

© GGse 1

(D) CaCaerid 1

(E) ol Qsflueidane

23 AHOD/2021
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46. The major tea growing State in India
(A) Karnataka : (B) West Bengal
(C) Tamil Nadu : : w Assam

(E) Answer not known

@Qidwnede Coulewe ifswrs Lu@fLouGbD wrblen 4G
(A) spTLED (B) Cioh@ eumisbd
(C) sbPBETEH _' (D) sewenmid .

(E) &len Qzflwefevenaw

47.  Orthodox method of processing is done in

(A) coffee
d : tea

(C) rubber
(D) clove

E) Answer not known

c%ﬁgngLnésdu wpepuie Gyreev Q@b werws CasmL L Ll erg)?

@A)  smd

B) Gsme
©) guur |
(D) &gmby

(E) den Qgflwelerans
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48.

49.

- Tenera is a variety of

v(( Oil palm

(B) Coconut
(C) Palmyrah
(D) Rubber

(E) Answer not known

QLaflyr eremm gaib erbs LQary Coibss)
A) aarQerri uear

(B) Qgerenar

(C) uewer D

(D) oo

(E) e Gsfweldene

Total crop duration of garlic ié
4% to 5 months

(B) 3% to 4 months

(C) 6% to 7 months

(D) More than 8 months

(E) - Answer not known

Y&Tigar QLTSS Dl srald
A) 4% upsé 5 wrsmEsET
B) 3% wse 4 wrgnser
©) 6% P56 T DTSHIGET
(D) 8 wrsrisEssE Gue
(E) oflenr QsMwelerened

25
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50. Select the seed spice

(A) Cassia
(B) Curry leaf
(C) Thyme

‘J Fennel

(_E) Answer not knlown

feng eursaars Lwleny Csitey Qauiwieb
A Csflur |

B) sHGar9me

(C) ez

(D) Gemby

(E) oler Qzflueiidvena

51.  List the month of flowering in Black Pepper
(A) December-dJ aﬁuary

(B) January-February

J May-June

(D) February to March

(E) Answer not known
Lﬂmé LUILGGD DTSBISET 678 ?
(A) g&buT — et

B) gaeuf-Quyeuf

(C) Cuw-ggar

(D) ﬂuua;rﬂ—mrrr'r& :

(E) oo Gsfluefdvene
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62
v
(B)

53.

is known as land of spices

India
China
(©) UsA
(D) Philippines
(E) Answer not known
eungenar) Lulrsefien Fmusd eremm) am@&&ﬂu@ﬁﬁ)@j ?
@ @pdur
B) Famr
(C) <Cwfssr
D) Gdvenueiren
(E) ellenL Qg flwelldene

Immature Jasmine buds with bore holes symptom is caused by

B)
©
D)
(E)

Bud worm
Leaf Webber
Mite

Aphid

Answer not known

@earbd weaelens Gwr Haeaid gemearaer o @r_ra@n Usfluler Quuwir ererer?

(4)
(B)
(©)
(D)

®

Glmrn'_G 4w

Qoo Years@b yw
fapg ysé

&mmﬂ

oL Asflucidame

27 _ AHOD/2021
: [Turn over



54. Gummosis from stem and crown toppling in coconut is due to attack.

" (A) Rhinocerus beetle
d Red palm weevil
(C)  Black headed caterpillar
(D)  Shot hole Borer
(E) © Answer not known
@gmmmlﬁ]m STM GUig &6 WHMID (GBS 2L gl Qg rhi@HgHeD LLFSlwimed
FHUGEDS.
A)  smam_mlms euar()
(B)' Sleuliy saeir eueiT(H)
©) s@Esoan Ly
D) Spgear auar®
E) oL Asfuciiema

55. Name of the nematode causes infestation in the roots of Potato.

S

B)
©

_ o
(E)

Golden cyst nematode
Termite

Root borer

Mealy bug

Answer not known

o mpaver Sprdlar Coulr LiGHuda BMEGSD THLDSSS dnigw BIHLeder QUi ereren?

(A)
B).
©
D)
(E)

AHOD/2021

ﬁréi‘? Sy BIOYWP
SHENJUITEHT

Geulr gemariiLimesr
wreyl Y&

allen Qgflwaldena
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56. Which of the following caused Irelands Potato Famine?
(A)  Puccinia graminis
(B) Phytophora palmivora
(C) , Plasmo para viticola
e

Phytophora infestans
(E) Answer not known

| &mmgmmmmﬂw o8 guierpgler e (mener ki@ LEHFD FHURSDHES STIERTD ?
A) useSeflwr Aymdleflen

B) @ulCLrCusCsryr LaBGaurym

(©) QearmevGuorunyr el ig Cameom

D)  eulCrCusCsrym @eérCUevL 6

(E) ol Osflweldenew

57.  The insecticide causing resurgence to red spider mite in Bhendi is

(A) Malathion

(B) Cypermethrin
d - Ethion

(D)  Dicofol

(E) Answer not known

-

Qeauamerufed, Heutiy SHopg LEdsEnEE @aruQumss B Hevw a@TLnég,m
WF:2 AL ) : :

(A)- .Loﬂél)gﬁu_ln'dﬂ

B) esui@uwgher

©  mBurnen

(D) e Csrurd

(E) oL Osfueidame

© : - 29 S AHOD/2021
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58. In Banana, corm injection is practiced to manage disease.

Fusarial wilt

(B) Moko wilt

(C) Sigatoka leaf spot

(D) Anthracnose

(E) Answer not known

curen &l il glememud_ (b LHHS Qsgusgieuanmed
sLOUASSILEEDS -

(A) ysewr eumrL &

B) CursCsr aum_é

(C) AsrGLrgar @eelieref
D) sypHréCamed

(E) oo Qsfludoame

59. In mango, the secondary injection (disease) due to the hopper damage is

(A)
(B)
©)

(E)

Black spot
Anthracnose
Die back
Sooty mould

Answer not known

wrelléd ssgILLES sTEGEH fswis Gmpsed Qbs Crmu Agau@ D

)
®)
©
®)
)

*"10D/2021

&(mLberefl

<24, b7&GHmen

mefl 96 smaED
&b epsmar Gpmi

- eflenL Qs flweidvene
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60. If the infestation by a pest is a regular fracture and confined mostly to a particular
area or locality, it is called

(A) Epidemic pests
d Endemic pests

(C)  Occasional pests

(D) Persistant pests

(E) Answer not known

R0 sl apssors @Cr LWl @Cr safld <ipg Ll oerar Gungy 'grrés@)gseb

aHUBSEID. Qs CuwiT ererear?

(A) Qsmpp ysflser

B) Cy u@;ﬁuﬂ]m Ggretmid y&élser

O sdwaunCurg Cerammib ysflsar

D) uvmaw ysdser

(E) oo Qsflweldame -

61. The lowest number of insects that will cause economic damage is referred as
(A)  Economic threshold level
d Economic injury level
(C) Damage boundary
(D) Reduction damage per pest

(E) Answer not known

GopiHs Cgrensujerer Lsdlaer aﬂ@meﬁ]&@ab Qummerngny sarmuTRéE QWi
Q)  Qun@emsry GAssHaus wLLb

B) Qummerngsry Css wI_L1b

(C) Cos erorenew

D) GCss opuy yid galGeaurariheb

(E) dlev Ggfweiidrena

® : 31 = AHOD/2021
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62. The most prevalent disease in nursery 1s
(A)  Root rot '
(B) Welt
M Damping off
(D) Root knot
(E) Answer not known
@@ prpprisrafld sifs urdiy qﬁ)u@g‘sgjm Crmu
(A Geurpsd
B) wméd
©) proppse
D) Ceuir opyu&a
(E) oflenr Qzflweiérenew

63. Which one of the following is linked to the discovery of Bordeaux mixture as a
popular fungicide? '

(A)  Bacterial leaf Blight of rice
d Downy mildew of grapes

(C) . Loose smut of wheat
(D) Black rust of wheat
(E) Answer not known

QumiGLr swameu s&TR W16 Geraumeuareupdled 6rg FbLIBSLILIL (HeTeTg) ?
A) Qpe urseflur Games H@ED GBI

B) Ayries spssmbud Cpmi

(C) Ga;rr@émm 2 Hfl sfuiyenL

D) Cargew smuy & CoHm

(E) oflen @zflweilcoenew

AHOD/2021 32 ®



64.

65.

Vinegar is used in the preparation of

4

(B)

 (C)

D)
(E)

Pickle
Jam
Jelly
Squash

Answer not known

eflaflast —————— o @rL_mést LwETLEID

)
(B)
(C)
®)
(E)

26T M| &I

grrLb
Qggevell

VGeures

el Qgflweldene

Which component is the most essential in jelly making?

(A4)

(B)
V4

D)

(E)

Sugar
Acid
Pectin
Wax

Answer not known

Qe surflude eg wpasdlu smprs o drarg) ?

A)
(B)
(©)
D)

(E)

FTESENI

3idled

Quéigéir
Quwe
ellenL. Qg fwallévena

33
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66. Apple can be stored in controlled atmospheric storage at

A

4°C

B) 10°C
€ e

D) 12°C
(E) Answer not known
uddr upsdlear shssUULL ety GCelliy
Gaflssembd
A) 4 g df Qeodlwan
(B) 10 Ilq.cﬁl'ﬁ Qeerélwen
C) 7 gdfl Qerdluen
(D) 12 4&f QewAwev
(E) oo Qzflwelicrenaw

67. Apple is packed in

(A)
(B)
©)

Jute bags
Nylon bag
Basket

- M Corrugated fiber boxeé

(E)

Answer not known

Ubeer ApOBAsTemere) aT(hEgF Gada

A)
B)
©)
(D)
(E)

AHOD/2021

FmTe) ENLISGET
MBELTEI &LIGET
FoOLGET
Qpeflenuur Quiigser
eler AzRweldame

-34
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69.

Application of which chemical drug ripening in mango

J Male1c hydromde

GA
(,C)‘ NAA
(D) 1IBA

(E) Answer not known

WTDUWPLD UPLILINS eThS W@HHS LWTURSS G@DESMD

(A) wrellé mapl Tréems

®) o
(©O) aergeg
® g9

E) oL Asfucidama

In oranges due to this disorder gel formation is noted in the vesicles the disorder is

known as :
(A) Puffiness ' JGranulation
(C) Ruid staining : . (D) Kohansho

G5 Answer ot known

Y repsliuprisatan searseafle, Campg Curd aig Qe impssiiuGdDs
A) euyse : (B) wareGumd =5
© GuaCgreler Sy — (D) CsnsenCGem

E) oL Asfueddme
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Disease of poultry whlch cause reddish diarrhoea is

M COCCIleSlS

Ranikhet disease
(C) ‘Fowl Cholera
D) Salmonellosis
(E)  Answer not known
Ga;rr@éaﬂm @qg,g,és sflEgena _asatrL_n&@Lb Gllr;nuu_ :
A)  srédlyCuiie ' .
B) grexllQa Crmi
) Geid siars
(D) sm@wraTeGardlen

(E) el Qsfiueidame

'71. Minimum distance between brooder and g'rowér poultry shed sho'uld.be _
(A) 25-50 feet
d 50 — 100 feet
(© 100 - 150 feet
(D) 150 — 200 feet

(E) . Answer not known

(&/@h&t G.srnaﬁs] wHmid euert Gasmd Qasrn__l,cmaaa@a@ @am_Gu_l @@'&55; Cauaimig W GODHS
ule @en Gleuafl

(A) 25 - 50 Spser

(B) s50- 100 DIq HET
(C) 100 - 150 Bigsar
D) 150 ~250 DiqEHT

E) oL Asfusdme
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72. Finest fiber produced by chegu goat of Himachal is known as
(A) Mohair
| (B) Karakul
M Pashmina
(D) Wool
(E) Answei' not known

Qongeols u@@mw Cerpg GI&@ @er QeuctermRaser 2 HusSd GQeuwybd CQuerenwwirer
2 Gpmngdler QUi

A QurGapi
B) amymE®
©) LneviSlerT

(D) sbuerd

E) e Gasflueideama

73.  General guide line for mating female goats is when it attains % of its

adult body weighf
A) . 50%
J 70 %

80 %
'(D) 100 %

(E) Answer not known

Qugeurs QuienL %(})\&.m g (pdli GTGU)L.US]GU TS &gsﬁeﬂgm Sl Gumpg)
s @ars Garseans GawlwiL Gsuam@m

(A) 50%
B 70%

©) 80%

®) 100%

(E) | eflenL_ Qgsrﬂtuaﬁld)moj

= 37 - AHOD/2021
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74.  Which one of the following fodder crop is not suitable for summer cultivation?

(A) Cow pea

(B) Sorghum

(C)  Bajra
Berseem

(E) Answer not known

Spsam_euphle hs @k Heuear LT auews CaremL stegded LG ghpsoe®

A) sleL uwp

(B) Gsmemd
(C) &y
(D) Quidbd

(E) dfler Qsflweiéene

75. The pH of good silage should be around

(A) 20t03.0
d 3.5 and 4.2
€ 50t062
D) 82t09.3

(E) Answer not known

poe sapsmi Yoaldar sry-sifle garewwar (PH) sieray
A) 2.0 5o 3.0 |

B) 3.5 wpgid 4.2

©) 5.0 s 6.2

D) 8.2 s 9.3

(E) oo Qzflweidane

AHOD/2021 38




76. Maximum number of cows to be housed under one roof

@) 25
B) 35

50
D) 75

(E) Answer not known

@ CarLeswliler fasulgwons amassiiuL Ceauamngw wrasalear aarafsms

(A) 25
B) 35
(C) 50
D 75

E) oL Asfucoama

77. Optimum dry period for a dairy cow is

(A) 30days
d 60 days
(C) 90 days

(D) 120 days

(E) Answer not known

speeu I igh@ Cameuwnar “Lrdelppe” sreld
(A) 30 priser

(B) 60 priser

(©) 90 priser

(D) 120 prcser

(E) G)S]Gb')l-_ Gg,rﬂﬁmﬁlsbmm

(0] ; 39 AHOD/2021
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78. Legume plants are decomposed faster than cereals because they are rich in
j Protein (B) Carbohydrates
(C) Fat (D) Vitamins
(E) Answer not known '
Ll eumss sSTaTESET Sraflu cems STeurEsmer il cllengeiled L (GeUsDHSTET
sTyenTd jeupdled 2 arem : 5
A yCyriieen B) smiGurenant Gy
(C) Qamupuy D) eeu L Blersar
(E) ol Qaflweildoena

79. Match the following :

Variety : Mushroom
(a) M2 _ 1. Pink oyster
(b) PF 2. Elm oyster
(¢) Co2 3. .  Grey oyster
(d APK1 4. White oyster
(a) (b) (c) (d)
(A) 3 1 4 2
(B) o2 4 1 3
4 3 1 2
D) 2 1 4 3

(E) Answer not known

£gpasaim'|_5ugbém,m sflwrs QuTHSES

@rsd STETTE0T
(a) M2 1. @ergrdeuy Al
(b) PF 2.  eréd A0Q
(c) Co2 3. gmbue Al
(d APK1 4. Qeudtener S
@ ® © @
A) 3 1 4 2
B) 2 4 1 3
C)>-4 3 1 2
D) 2 1 4 3

(E) ofer Qsflwaiidvane
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80.

81.

Bio efficacy of oyster mushroom

(A)

15 — 20%
30 — 35%

J 100 — 180%

®)

145 -200%

Answer not known

Sulssremmafle 2 HussH Hper

(A)

®B) -

(©)
D)

(E)

The mushroom foundation of India is situated at

4)
B)

15 - 20%

30 - 35%

100 — 180%

145 -200%

eflenL Qg,rﬂu.:aﬁlsi)m@

Bangalore

New Delhi

w Coimbatore

(D)
(E)

Shillong

Answer not known

@@ﬁuneﬁ]@ snernen 2im&s L ewer (Mushroom Foundation of India) wiewpgerer @b

(A)
®)

B B

(D)
(E)

Qumigenir
Ugl Sleved
Camuibysgn
Aevevrms

aflevL Qzflweildee
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82. Hypsizygus ulmaricus is a

(A) Milky mushroom

(B) Button mushroom

d Oyster mushroom

(D)  Shiitake mushroom

(E)  Answer not known

Hypsizygus ulmaricus ererLig) 65

(A) U serTer

B) Qurl@s srermer
(C) &uls smermer
(D) é}(él.é; ST

(E) &l Qsflwelldvenen

83. The mushroom city of India
(A)  Shillong

J Solan

(C) Shimla
- (D) Srinagar
(E) Answer not known

@pSHureller smerrenr BETD erariL(Bieug)

A)  Aoem
(B) Gereveir

(G édover
D) Spsr

(E) oo Gsflwaicane
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-84.  Micro organism used as Bio control agents in sustainable agriculture

(A)
(B)

D)
(E)

Bigs5 Ceuerramanoudler LwaTLRSSLLBD erdli 2 Wl meTaudi

(A)
(B)
©
- D)
(E)

Macrophomina

Colletotrichum

" Trichoderma

Sclerotium

Answer not known

Cu&CrmGumblenrm

CarellCLrLanr&sLbd

g y&GaTGlLom

v Crraguib

e Gsflwaleena

85. The root zone region of crops

Vi

®)
©
(D)
®)

Rhizosphere
Spermosphere
Autosphere -
Phyllosphere

Answer not known

vlisefer Geulr sHmit LGHGer Quuwir

A)
(B)
(€)
@)
(&)

engGamenL 9w
GG A
< GLmev G
QerGevmev Ausir

e Qsfueidma
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86. Which of the following is used to produce hybrid seeds in male sterile system ol
hybridization? :

(A) A-line x B-line

d | A-line x R-line

(C) B-line x R-line

(D) A-line x M-line

(E) Answer not known

<@ LOLH op¥ed soulder dosow 2pusd Csuw Geraumeuaapbldn g
uweruRSsLLGE DG ? :
(A)  Aged x Boysis

(B) A-gsibx R-gaid

(C) B-yawx R-yad

(D) A-gsibx M-gad

(E) oo QsMwueidane

87. The production of non-functional or sterile polllen.grain while female gamete function
normally is known as
(A)  Self-incompatibility
(B) Pollination
(©)p Male fertility
Male sterility
(E) Answer not known
mmL@f@&u.:sngbm warbasTar LHnL Geudurherwu Guar Gosbd Curgeaurs e
SiPlwiiu@Elermer. :
A) swQummHETS Feranio
B) wsrHssF Carsms
O & smaypsD
D) e vl HS Femenio
- (E) eflenr Qsflwelcrene

AHOD/2021 : 44 : ®



88. In tomato hybrid seed production, seed parent and pollen parent are grown in the
ratio of

) 6:2
(E) Answer not known

aiflw @U@ sésrell levg 2 HuSHUGD vweruG$sLuBL Que WwHmLb \%,am auflens
g ereueueTay? :

121
@) 9:1
)42
Dy =62

(E) der Gsfweldeme

89. F1 generation from cross between two or more pure hnes inbreds, clones or other
genetically dissimilar lines used for commercial cultivation is known as

Hybrid variety
(B) Inbred line
(C) Variety :
(D)  Pure line variety
(E) Answer not known

Qrar® wrbwe fHwrs Caupurhsmes Qsrar. gnu euflamssar (@) odraflaré Coibes
aflossdr (<) daell wsypss Coisms Temsmer soLLE Qsuiauger apabd Sl ssL

Qumib pse soOWaDF sHsE B
Q) &flu gUpsser :

B) oareflens Coisens gaibd

© @rsw>

D) gw afes Fsibd

(E) e Asflweiloama

® 45 _ AHOD/2021
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90. As long as MPP moves in upward direction, TPP increases at
J increasing rate.
(B) decreasing rate
(C) constant rate
(D)  slopes downwards.
(E) Answer not known
a5.9..9 (MPP) 2 pusduier pdu orppn Guod Cprédl ps@GD @y 4.19.9 (TPP)
Qurss 2 Hussd ahs Howuls fsfllésegn?
A) =fsfls@n How
B) @opubd Hlew
(C). &w Hleva
D) SpCrrsdl sfluybd
(E) &fenr Qzflweiidvencd |

-91. Result demonstration is a

(A) Mass contact
V Group contact

(C) Individual contact

(D) Single contact

(E) Answer not known

W) QEwe HlaTésbd eraTUg) . 24L& LD.
(A) Qgear Qgmi
B ol @ Qs
(C) saf (lb.ur'r Qgmiy -
D) safl Qgriy
(E) el Qsflwaeidene
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92. - Tobacco Board has its headquarters at
J Guntur
(B) Karnool
(C) Hyderabad
(D) Vijayawada

(E) - Answer not known

Hensullena @nrﬂmgﬁle‘&r SN QUG . Qe 2 @rerg).
@A) GG
B) srmre

- ol _mm‘g,qrrurrg_.
(D) aﬂgm@nLn
E) ofer Osflucidoma

93. * The central AGMARK laboratory is situated at
M Nagpur
(B) New Delhi
(C) Mumbai
(D) Kolkata

(E) Answer not known

SHLI DIEOTTE S UIEUSLD @é 2 drarg).
(A)  préyfr

® usged

© eu

D) Gsréssst
E) - e OAueiema

® . : AHOD/2021
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-94.  The following one is not a special characteristics of agricu}tural marketing
(A) Perishability of the product |
(B) Seasonality of production
(C) Small size of holdings _
d Uniform in quality of products
(E)  Answer not known

Spsam_aiphled ganm, Ceerrenm spaslLESSRGESNL HDUL saT@DML FTHEE SO
A) eAeyeiler D@D QUTHLSET 2 Huss
B) sroflew srips QuIGLsT 2 HUSS
(C) &Afw serelener 2 Husdwurerisar
. M) @Cr syb Qarem QurBLaeT 2 HLSE
(E) &l Gsflweidame

95. Storage of perishable commodities in refrigerated chambers under controlled low

temperatures is known as
(A) underground storage
(B) surface storage

(C). 1image scale storage

l cold storage

(E) Answer not known

Aeoreled efws sgu QuiEasmar s @uurirar GCaluBblaauid @etlTeEnger
Siopsaid mausg Calliiug @eiaurn SePssiGId. '

@)  Saspy Caioy '

B) Cuweuruy Gabluy

(C) Quilw setey Cadlliy

D) @efit uger Gabluy

E) e Qsflweileene
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96.

97.

The word MARKET comes from the latin word

- (E)

(A) BAZAR
(B) HAATS

(C) PAINTHS

- MARCATUS
Answer not known

‘Fpeang erangb eurigegufler awgSer QumQuuwiity D GLD.
A) g

B) sriev
(© Quiiengan

(D) s e

E) e Gsfueidame

The hypothetical sphere within which the price determmmg forces viz demand and
supply are operating is known as

(A)

©
@)

(E)

Buying
Market
Marketing
Selling

Answer not known

QumrmLsafiar elene - ;F,]rrsmmm Qaiwgamiguw  QummLsefler Ggsmsu LHYIDL TS

&)
(B)

(€ -

D)
(E)

- Geweéupibd spumer Garard @eaieurn HutiLGEps.

QUGB E

FHheng
FHOFLILIHSH6D
aflpmed

allen Qgflwelidvena
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98. The different quantities offered for sale at different prices in a market is called as

)

©)
D)

(E)

Demand
Supply
Market
Elasticity

Answer not known

sheosule QauciGeuy elmasE GeaucuGauy erelemar unBLamar Mpuenens @ S(HDd
Qewg)d@ Quuwir

A)
B)
©)
D)
- (E)

&Em(é,-@gmm (1qLDmmesorL”)
FHeng UTSHG (ED@G}T)
FHOS

WBeTgemento

G)S]@I_ G!g;rﬂuaﬂabemeu

99. The expression of the farm plan in monetary terms is known as

A)
©)
@)
(E)

Capital Budgeting
Farm Budgeting
Cash Flow Budgeting
Family Budgeting

Answer not known

Lamenenr S orang Liew wHGer apeons GeuafudiL iU LTd i)

@)
®)
©

o

(E)

AHOD/2021

apasar aure] Qswe| S ib

uaTenent euje] GFwe| HLL b

uerd LTwHECSTHIWL uye QFweydlL b
&Obu aure| Gewey HLLb

eﬁimt_ Qs flweidame
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100. Among the following which is used as green leaf manure
(A) Sunhemp
(B) Danicha
(C) Phillipesara

d Pungam

" (E) Answer not known

SaaT_audmIET eTgl USHSTET Glana 2 b ;'rcuT S p&asliILBEDS
A) seriy

B) Qrweafer

(©) QSuusym

(D) ymsbd

E) e Gzfwellcrene

101. The gross pollination in vanilla due to
. J Peculiar flower structure
(B)  Due to dioecious nature
(C) Due to protandry
(D) Due to protogyny

(E) Answer not known

auafloor LA iwe mésu‘[i;g, Carsanss@ srgansms Csie Qals
(A) saflssearenowmer L, qu.éufo

B) mhear ureerid

©)  warps eper (phliay

D) @wsd gpar wéliey

E)  elerr Gpflweiidea
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102. In which crops whip and tongue grafting method followed

@A)
(B)

(D)
(E)

Mango
Mangosteen
Pear

Phalsa

Answer not known

ey LWifle #men HMID BrEEG e @L( sLLuubEng

A)
B)
©
D)
(E)

Lo
LD B! (&6 S TebT
Gullésmul
UIMTGL&T

cllenL Ggsflwelcrene

103. Give an example for hard wood cutting

A4)

(E)

Guava

Answer not known

s aronar sar® GFflser arps LWilfld s GyssnLOEeaTng)

(A)
(B)
(©)
D)
(E)

Qemiwmr
wpif
Syrieng
GamreSlwe

aflen Qgflweilcvena

AHOD/2021 52



104. Mango seeds are viable upto ———— days.
(A) 8 weeks :
(B) one month

& 80days

(D) 4 months

(E) Answer not known

wr edllensser BTL&ET QU (PeneTliSEmen 2 el weneuwins @) (méELb.

(A) 8 auryruser
®) @B LIS

(C) 80 priser

D) 4 wrphser

E) b Osfludoma

105. The ability of the plants to mature fruit without the aid of pollen from some other

flower known as
(A)  Self fertility
(B) Incompatibility
A(C) Self unfruitfulness
Self fruitfulness
(E) Answer not known

@ L LeHEL Gl EMUEED ST eaiaTy SA@PESLILEEDS
A)  ser smaymad
B) geamew .
(C) gar Lyfateno
(D) s Lupd snugsD
- (E) &len Gsfwelicvenew
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106. Fruits with rich source of carotene

(A) Papaya .

M Mango
(C) Orange
®)  Jack

(E) Answer not known

s LpsHe Bs s siere] sGrT g6 2 6Ty
Q)  uouref

(B) MBS/ WOTbUPLD

© res

(D) ueriupd

(E) ofleni Qg,mu_laﬁl@mw

107. Ammonium sulphate contains —— % of nitfogen.
(A) . 46.0%
20.6%
C) 16.0%
D) 25.6%

(E) Answer not known

<bCwrefwd soGuL_ aure_’r,ﬁd} CTEUGUGETG SENPE F&HF 2 dTeTg|

- (A)  46.0%
(B) 20.6%
(C) 16.0%
(D) 25.6%

(E) e&len Gsflwueierenco
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108. Tamil Nadu, Andhra Pradésh, Karnataka and parts of Maharashtra comes under
Horticult_ural zone.

(A)  Southern hilly zone

(B) North central sub tropical zone
y South central tropical region

(D) Coastal tropical humid zone

(E) Answer not known

sprLaET, <gpslor, sblpprH Guogib weprrreggrreiler fo u@dsdr @eucuamsL
CariLssama ugdlsaflear S cumdlearmer

(A) Oserafpdu vl LGHsT

B) aLéE wPu Bg GeuiL Lﬁso‘oTLcuu uES
©  wgfu Bppe Qauuwan_wn ues

D) sLpser Qeutin FraLEH

(E) &l Qzflwueidena

109. Study o.f fruit crops is called
(A) Flori culture
(B) Oleri culture
(C) _ Arbori culture
. Pomology
(E) Answer not known
Ll Lulirgener uHPl LRSS eTeuaUTN SMP&EEILIHS DS
@A)  cGamf sosst
B) qarfl sodst
C) <iGu e rai
(D) Gumoreg

(E) &l @Qzflweiidvena
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110. y weed ‘Striga’ is controlled by growing trap crops like
) _

111.

Cotton
(B) Rice
(C) Soybean
(D) - Sorghum

(E) Answer not known

o @rET araTgh smareL s AULEESE s Quml (trap) aas LG
@ uesd '

® Opo

(C) CsmumSeen

(D) Gemarid

(E) oflen @zflweildvenaw

The Quantity of commercial formulation of simazine wp required for one hectare
area, if rate of application is 3 kg ai/ha and the commercial formulation contains
80 wp, 1s

(A)  3.25kgha d( 3.75 kg/ha

(C) 3.85kgha - ’ (D) 4.25 kg/ha

(E) Answer not known

Awfler seeas OQarodllear Osafiuy eigd 3 £ ai @m Cap wHmb euells
o peursssSled o drer ai oete) 80% eaafle, m CansCL(réE CsmailiuBib &wéleafler
cuenfla o (HeUTESD ' :

(A)  3.25 £.8/Qap ~ (B) 3.75 8.8/Qap
(C) 3.854.8/Qap (D) 4.25 £.8/Gan
E) oL Osfudivas |
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112. Which one is the example for cultural method of weed control?
(A) Hand hoeing ~
(B)  Burning and Flaming
(C) Mulching
Correct time of sowing

(E) Answer not known

Epsseamcupfle ey snguy wapwWd smer sL_EULTE QeuwiLESns)
(A) et Qsrsd apanp ' |

B) S4ce @asrr@mw Yo

€) Hawv Curieme

D) sflwurer Crrsdledr enssse

(E) der Gsflueldame -

113. If the net irrigation requirement is 4.00 cm and field eﬁiéiency 1s 80%, Gross

irrigation requirement is

(A)  3.00cm
(B) 3.50cm
(C) 4.00cm

.5.00 cm

(E) Answer not known

gy piursand 4 Qs wHomd Brumiésnd Hoer 80% <& @b Gurg Quoms
[uJul <2 BEG 8 &%
Biruuneer sjerey

(A) 3.00 Q&8

B) 3.50Qs.8
(C) 4.00Qs.8
D) 5.00 Gs.i8

(E) . e Qsfweldvena
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114. Pick up the adverse effect of soil moisture stress on plant growth

Loss of Turgidity

2 Decrease in photosynthesis

3. Increase in respiration

4 Decrease the Proline content

(A) 1,2, 3and 4 are correct (B) 1, 3 and 4 are correct
(C) 2,3and4 are correct M 1, 2 and 3 are correct

(E) Answer not known

LW eueriEfuler wamenfid Bir LHPTG@PWTED auD Lsselamereysaier &pésameunled
sflwrareuperp Csirey els.

5 uuQfer ellenmlily Semenid GHMDSED

2 paflECGsisms @D

3. ulfler saurdssed dswn@sd

4 pulfler LCymedlenr 2i6Tey GHnDIHEd

A) 1,2, 3 wombd 4 & (B) 1, 3 wHmibd 4 &f
(©) 2,3 wpmd 4 & i D) 1, 2 wpmid 3 &l
(E) &leo Qzflueidame

115. Tea crop grow well under the pH range of
a) 8-10 40-6.0
)-8 D) >10

(E) Answer not known

Cslear LmEE ghp e &1y How

4 8-10 (B) 4.0-6.0
© 7-8 (D) >10

(E) &fev Qzflweiidvene
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116. Foliar spray of nutrient is suitable under

{
2.
3.
%
(©)
D)
(E)

For micro nutrient mostly
When inadequate soil moisture
Require larger quantity

1, 2 and 3 are correct

1 and 2 are correct

2 and 3 are correct

1 and 3 are correct

Answer not known

- Qoo el arl L s5g Sifi@ sTSSWLNEGEDS

L
2
8.
(A)
B)
(©)
(D)

(E)

Qurgleuns mI@TEDT L F5gs6T Qsalss
wewrenfles Gurdlw weir D @earain

288 era] 2 7ib CsameuuBbCurg

1, 2 wpmib 3 &

1 whmin 2 &

2 wHpd 3 &l

1 woHmib 3 &l

eflen Gz flwaildene

117. Urea fertilizer is a

M Straight fertilizer (B) Complex fertilizer
(©)  Mixed fertilizer (D) Compound fertilizer
(E) Answer hot known | .
wAlwr o qorerg e
A)  Cpryg 2o e (B) Qeewriy 2. g
©) seouy @gu‘: (D) aa.u'_(a o Jib
E) oo sfucdme
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118. The general chafacteristics of Ammoniacal fertilizer are

1. Early available to plant as they are readily soluble in water
2 Leaching losses are less as they adsorb on clay complex

3. Increase alkalinity as they are basic in residue

4. Reduce alkalinity as they are acidic in residue

=

2, 3 and 4 are correct
1, 2 and 4 are correct
(C) 1,2 and 3 afe correct
(D) 1, 3 and 4 are correct
(E) Answer not known
SCurallwrssd 2 ysden @Garrdlwmser
1. &lereurs sejeugtd eefifer LW®HES HoL &8s
2. sflay b dejuoraug Gopey gOereTpTed .e@ saflargsertie
P 1g 506G TeT(EnHLD :
weraflar sarit garenwew fafsen g <88 &1y GeTaio QEW@TL@; '

wamaflen saTT SETEML G@DESD FQaraTpred <18s sflegaramwaw Qararg)

(A) 2, 3 wpmibd 4 sllwurarere

B) 1,2 uwpmiw 4 sflurerenel
©) 1,2 wppd 3 sflurerenau
D) 1,3 wombd 4 &rﬂu_marmsﬁ
@ oo Asfucome

119. Which of the following nutrient element act ag a constituent of chlorophyll?
(A) Calcium Magnesium
(C) Iron ; (D) Sulphur
(E) Answer not known
abs LUAT 558 STeurEsERd LF@SWID 2 (HeuTSHES PEHWL LKE walsEpg)
(A) asrrsbeﬂu.ub- (B) Quéeafflwid
©) Qmoy D) spssd
E) oL Oslucdome |
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120. Loamy soil is considered to be an ideal soil for crop growth because
(A) it contains balanced mix of sand, silt and clay

(B) it retain water and nutrient

d (A) and (B) are correct
(D) (A) and (B) are incorrect

(E) Answer not known

uulfler sw&ér euatizfléE @mbOuren wer Wsab gHng q@mshm)rrch.

(A) @z wand, cuard wHOID seflwareananr FwaFymer <jarayseid S B CTETS)
(B) Quwer, war FHD WHMID T FEHIESDET S amé.; QupmieTeTg

©) @A) wpyd (B) sflwurarg .

D) (A vppd (B) geupreng

(E) &l Qaflweildene

121. Completely weathered soil layer
(A) 45-60cm
w 0-15cm
(C) 15-30cm
(D) 30-45cm :
(E) - Answer not known

HBigioTs o mordlu waramflear b ez
(A) 45-60 Qs.18

B) 0-150s.8

(©) 15-30Qs.8

D) 30-45Qs.8

(E) ofevr Qzsfluaidene
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122. Arka Rajhans is a variety in

M Musk melon

Water melon
(E) Answer not known
ST prRsTaey jEb abs LlmnE sTibss
(A)  embd ub
O phpes
(E) e Agflweioend

123. Pusa do mausmi is a variety 1n
Bitter gourd
(C) Snake gourd

(E) Answer not known

(B)

D)

®)

(D)

B)
D)

Cucumber

Snake gourd

Qeuereril

LGRS

Bottle gourd
Ash gourd

uer QLar Quererd erenp @rsibd apg Lwifle deaeaflliulLg

(A)  ursHesm
C) yLemsmi

(E) olev Gsflwellévenew

124. Arka Abbay is a variety in

J Bhendi

(C) Peas

(E) Answer not known

B)
D)

®)

D)

SireEr Cu eray g s Lulers Csibssg ?

(A) QeuasrenL_
(C) ulimenfl
(E) olen Qzfweiidvene

AHOD/2021
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®)
D)

FEDJ&HSE T

gmbLed Lygenfl

Cabbage

Tomato

L &5Cans:

S&ETar



125. Brown heart disorder in Beetroot is due to deficiency of

(A)

®)

SCmliged Wryeyar @swib, Cpmo

)
®)
(©)
D)
()

126. Which of the following is correctly paired?
@

B)

V4
(D)
(E)

Calcium

Nitrogen

Answer not known

ST & wib

O BL_TERET
SISSHTELD
Gumrymen

eflen Qgflwelldene

Fruit retention in Mangd

Flower induction in Mango
Off season flowering in Mango
Seedlessness in Mango

Answer not known

GSODUTLL T gHuBEDE.

GA 20 PPM
DAP 1 percent

Paclobutrasol @ 1 ga i/ tree
NAA 20 PPM

Spaumeuareupmier erg sflwrs’ QurBSSLILLE 2 drerg

)
(B)
©
(D)
(E)

wredled 9@pa GigsHe

wredled U Ny Ss6

relléd Lmeud srairly L i S5
wredled @Slmg,uﬁdja)n ULPRIGET

len @sflwefcena

63

g@.q. 20 9.9.¢rib

i4.¢5.19. 1 #51d

- unsGermiyylgemed 1 Symb/wyb

Grsﬁr.q.q- 20 19.9.6rd
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127. What is the origin of Mango?
J South East Asia
B)

Brazil
(C) Mexico
(D) Austraha

(E) Answer not known

wr eradmbg Camemdluig) 2

(A) Qser dyse Awr
: B) YWCrAe

(C) Quw&sCsr

D) <yedCrelwm

(E) ofleor Gzflweiidenew

128. Which of the following is incorrectly paired?

(A)  Citron . —  Citrus Medica
J Tahiti Lime —  Citrus Limonia

(C) Sweet Lime —  Citrus Limettoides

(D) Rough Lt_amon ' —  Citrus Jambhiri

(E) Answer not known

Epsam_eupmier a7yl seuprsl urmpssLLLHeTarg)

(A) _ é'll;;grrsirr - = $llgev Qmwrasrr.

B) sdsd Grgjﬂém& : s A _gev eneComefluim
©) @eafluy erguifiseans -  SAlgev el LmiLev
(D) asq@@lﬂ_rr'asr aQilFans -  Sigev gmb§if

E) der Gsflweidane
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129.

130.

Choose the regular bearing mango variety

(A) Dashehari

(B) Langra
- Neelum
(D) Alphonso

(E) Answer not known

%m@ Cammib sTu&@WD Wwm Ua'&,é]em.ar Carey Gews

A) Gsevanf
(B) Qo g
©€) faw

D) =0Cunrersr

(E) ol Gsfluafdene

Dogridge root stock of grape is resistant to
(A) , Drought
Nematode
(C) Water stagnation
(D) Wilt disease

(E) Answer not known

Lré&flé dyriaes Caur Qe aap@E adliiy getenn Qaram® srmd cuaryéoniq s

A  eapcd

B).  mmHyw

(C) S Comdulmssa
(D) i Gpmi

(E) &l Qsflwefdene

65
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13 .- Lawn is propagated by
J Seeds
- (B) Layering
(C)  Grafting
(D) Budding

- (E) Answer not known

L aueESET @ser epapd @aridumssd Qeuwerd

A) dlmgser
B) uvdwerser
© gLGsd

D) Qurlms6r

(E) &l Qzflweiidvane

132. Whichisa Succulents?_
M Aloe Abyssinica

(C) Dianthus spp

(E) Answer not known

sansLiLpHmieTar STeursen QuwiT 6rg)?

A) <=Car o9fafssT

C) eLwrhbsen avbl&len

@) oo Asfueddma

AHOD/2021
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®)
(D)

B)

@)

Helianthus sp

Celosia spp

aflSwmbsev eviddev

QsQanflwr eviGden




133.

134.

Choose the garden compatent help to divide the garden into number of parts.
w " Hedges

(B) Edges

(C) Topiai’y

(D)  Shrubbery

(E)  Answer not known

H,ré.td;rr@ﬁlﬁ) @@@mn@ éirﬂag,émg,um saigsafluns WMsg srardliumeuamu ereueum)
SpsHComd eratuamg Csiey GlFwis.

A) Geudl

B) feflby

© emamwsse

D) ©meEs Q&iq_ Esxt;l;Lb

(E) oo Qsflueidame

Chogse the ornamental plants havin.g drooping branches pattern.
</ Salix Alba
(B) Wild Almond

(C)  Gulmohar

(D) Travellers Palm

(E) Answer not known

Qgrii@b ener Sjenwlienu CsTamyHEEGL SiPE@ wrsms GCsie Celis
(A)  srallseh %@un .

(B) UTSTLD OFLD

(C) @oCuwrsar
(D) M eumenyp

(E) dflen Qzflweidene
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135. Veniisa

136.

AHOD/2021

©

D)

(E)

(A) Flower .by Produgt
(B) Dry flower
(C) Floral Beverage
Flower arragement
-~ (E) 'A'n.swer_not known
Geuenfl cretriigy)
A) wver gurfliy apep
(B) o e i SeBSTFLD
(C) e uNeTkEET
- (D) voir SeRsTID
® e Gl
is a white flowered rose variety
(A) Show girl

John. F. Kennedy
Christian Dior
Ganga

Answer not known

(A)

- (B)

(©)

D)

(E)

Coregr @& Qeuarener Hlp Li&seT Q_asrras'm_g,j.

Gagr Cairer

- Qe 6Tosll @aemariy

Sfleivig Wit gt
SHISIT

afleni_ Qg,rﬂuJaSlebmeo

68



- 137. Choose crop in which Arka Surabhi variety belongs

®)
(©)
D)
(E)

Pitchi
Mullai
Gundumalli
Marigold

Answer not known

Sirsen &79 erpg Lulfler FawmEn

(A)
B)
(©)
D)
(E)

958

(pevenq

&eT(H Leed

Qaearr(® weed

allen Gsflweferene

138. Jasmine sp. will less shelf life is

(A)

Mullai

( Pitchi

(©)
D)
(E)

Gundu malli
Kakattan

Answer not known

waodlens euamssaiier eflengeuna wIbE aumg L Gurr@'fo SO WDLIIF) TS ?

(A)
B)
(©)
D)
(E)

(peene

9&H
& (B Loeved
ST&ESL_L_medr

aflenL. QzMwelldena

69
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139. First red is the variety of
Rose
(B) Jasmine
(C) Marigold
- (D) Crossan_dra
(E) Answer not known

urevi @yl g&wb eThs gcﬁlmar Caibss)

(A) Gogmev
B) wvodas
(C) Qeeaueaupd

(D) seatsmbUrD

(E) &lenr Gsflweiidvena

140. The major cut ﬂower grown in India
(A) . Carnation
i/ Rose
(C) Chrysanthemum
(D) Orchid
(E) Answer not known

ahss Gesmuver @pduredd eids uriuereild LWALLLESADS 2>

(A) smiCensi

(B) Gymegr
(C) Qseuaupd
D) il

€ ofle. QsRucdema
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141. Method of propagation 111 Peri Winkle

J Seeds -

©)
D)
()

Tubers
Cutting
Crowns

Answer not known

Quilefitidar b wepud GaaLmssib Qewuu@Epsy

@
(B)
©
D)
E)

cllengsar
EANLAIGET
BeiTEaar

ﬁ@ry@rc&r_

dlenL Ggflweldrene

142. What is the major chemical constituents in essential oil of Ocimum Sanctum?

(4)
'
(©)
(D)
E)

Citral
Eugenol
Camphor
Thymol

Answer not known:

S eriLb aarQariuid o midyerar apsdw Gmﬁﬁ@un(geﬁw Gréman ?

A)

B)

(©)

D)

E)

: S _gmed

wdlermed
Gawur
MGLOmED

v Gsflweferene
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143. Medicinal Coleus commercially propagated through

(A) Hard wood cuttingé

(B) Seed _
Q{ ‘Terminal cuttings
(D) Tuber

(E)  Answer not known

N ah}ésa;dﬁ aefls fHuller eriiug. LW QuBESLD @am@uu@ﬁm@?
(A)  snar ga(é GESlser
B) dewgsar |
(O pell san® Gsdser
(D) éhagrﬁl@ _
(E) o&fen Gg,r‘ﬂu.ua‘:ilei)mq)

144. Cashew belongs to thé family of
" (A) . Malvaceae .
Anacardiaceae
(C) Euphorbiaceae
(D) " Rutaceae '
' (E) Answer not known
_ @bﬁﬂ- abs GOLLS®SE Fiihs STeUTID?
(A) GG
(B) wasigCuUAGL
©) @CurmMIGWAGW
D) @®LCLACY
. (E) oflen Ggflweilcvency
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145.

146.

147.

In areca nut, the spacing adopted in square system of planting
(A) 30mx3.0m : B), 25mx25m
C) 28mx28m d 27Tmx27m
(E) Answer not known

#517 populld LTES sTGLY Gaw aerar @ Geaal CsemarL@L
A) 3.0x308 B) 2.5%2.58

©C 28x288 D) 2.7x2.7.8

(E) &flen Qsflweierenaw

RMA 1 is grade in

(A) Coffee (B) Tea
(C) Cashew d Rubber
(E) Answer not known

g r.erd.g-1 SCGrE s Lulfe HevsEn
A smud (B) Cazulenew

©) wpaf - D) gour
(E) e Qzflusidamae

The spacing adopted in high density planting in cashew in Tamil Nadu is

5X4m B) 6x4m
©C T7x4m (D) 8x4m
(E) Answer not known | |
sUD Brige awppHf Apmed ;_r,Lm Yop&EE vweatuOssuubb Qe Qeuaf ererar?
A) 5x448 (B) 6x4.85
C) T7x4.8 D) 8x4 .8
(E) e Gsfweldens

73 - AHOD/2021
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148. Required seed rate for ginger cultivation in one hectare is

< 15001800 Kg

(B) 2000 - 2500 Kg
(C) 500-1000Kg
(D) 3000 - 4000 Kg
(E) .Answer not known

B& pLey Qe g aTEL(BES Comanar dlasuiera eeiaierey
(A) 1500 - 1800 £Gar ' :

B) 2000 — 2500 &CGeor

(©) 500 — 1000 AGeor

M) 3000 — 4000 HGeor

E) e Osfudivme

149. Ginger can be grown in ———— type of climate. -
J Warm humid conditions
(B) = Dry and hot condition
(C) Arid conditions
(D) Temperate conditions

(E) Answer not known

BEsd ahs aums s u Qeauliu flevasatler cuarmd
(A) Qeuu rruLGL

B) eap,é Gleuuu.ub

(C) eauparr auraflene

D) @efirn GyCsed

(E) &ler Qsfwelicvenew
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150. Seed rate required for one hectare in Fenugreek is

151.

(A)

D)
(E)

25 to 30 kg

M 20 to 25 kg

30 to 35 kg
40 to 50 kg

Answer not known

Qeupsw #MELLES @ oL (HhéEE Camawnear eleagwera] ereucuarey ?

(A)
B)
(©)
D)
(E)

25 wpse 30 SGam
20 s 25 HCam
30 s 35 fiCam
40 apge 50 HGem
S Qzflweldena

Which one of the following countries is called as land of spices?

@),
©)
D)
)

Japan
India
America
Africa

Answer not known

Spasam_aupmier eps BTG poiwe Lulisefar @oulLwns smsrudHDng ?

(A)
B)
(©)
(€0)
(E)

RLILImehT

@pFwn

- 3Qwf&sT

g uflssm
eflen Qg fwellcreney
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¥52. Cigarette beetle i1s a stored product pest of

(A) Rice

(B) Wheat
Turmeric

(D) Barley

(E) Answer not known

flasQr cuawr(® erpg Calluy Qurener snéGEng) ?

A) Qpe

(B) GCargew
©  wesar
(D) unied

(E) oL Qg welléene

153. Presence of white insects at base of the stalk and ripe nut, watery exudatlon with

blagk spots in arecanut is due to
Scale insects

(B)  Thrips
(C) - Spindle bug:
(D) Aphids

(E) Answer not known

unéE EBI!'U_IEGI'ﬂQlLD esrrLbua;arﬂgum Qeusrenar flp L&flser, s erafiser LD!_DQ][D B augge
2 RILMTEGD LFS :

@A) Qsfle ysd

B) @eeuGuer

©)  evQenged preumis ysé
D) sisallaf

E) oL Osfluciidema

AHOD/2021 a0k | ®



154. Yellow network of veins in Bhendi leaves indicates symptoms of
disease. '

M Vein clearing

(B) Vein banding
(C) Vein enation
(D) Vireseens

I(E) Answer not known

QauamearL. @eosaile wesse Hn prbysdr srariu@eude i@
Crrenw @&Mlé@n

(A)  Brnbdy QauEpssd

(B) prby vsms Ll

(C) pyby Qeuefl eueriéd

(D) uvsoLLUTNEGsSD

(E) &lenr Qsfweldenew

155. Severity of disease club root of cabbage can be reduced by application of
(A) Gypsum .
(B) Farm yard manure -
(C) Fertiliiers
Lime

(E) Answer not known

Lo sCsre Gam sy Comuler Salrsms @mpﬁ:ﬁgﬂ)@ a8 LweaLREsUILGEDS
A) s

B) wsHwu srar .GI‘@

(C) egrser

D) sa@wanrmby

(E) dleor Osflweloee

o 77 . AHOD/2021
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156. The grub which feeds on the cotyledon of mango fruits is called

157.

AHOD/2021

A)

©)
(D)

(E)

Leaf hopper

Nut weevil _ P
Scale insect

Mealy bug

Answer not known

wrbusSd o arer QaTleLemw Haraud Lpoa aerar Ui arany Siepssuu@id

(A)
B)
(©)
(€0)

(E)

Pows so501LE8
Qam_enL Fncmeua(h
Qsfler &8

mnaqugéﬁ

e Ggflweidene

Insects which normally cause a loss of yield from 5 to 10 per cent are called
(A)_  Major pests
d Minor pests
(C) Grasshopper pests
(D) Regular pests
(E) Answer not known
&Sl aer Gu%pésasmrra; 5 @g,d) 10 ellp&aTH LsGHD @lieu gHuGSHaTTd 2ig ereieuTm
SiepéslUREDg '
A) psdwu y&é
(B) sdu LHPYES
©€) Qe @sfaf ysd
| (D) apsswrar L&
(E) oo Qzflweldeame
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158. Panama disease of banana is caused by

\d Fusarium oxysporum fsp.cubense

(B) Ralstonia solanacearum

(C) Radopholus Similis

(D) ’ Péntalonia N_igranérvosa

(E) Answer not known

eumenpudled wammor Crmil ergamTed 2 arLndmg| ?

A GyCsflub sfevCuryd HuwCueré

(B) greevCGsraflunr QereGardwngib

(C) GCrGLrCumeev HAeev

D) @uG&TLGGDIT_GBﬂu_lrr mg_r,&rjrr@‘r_r,r'r@eurremrr'

(E) &flen Gsflweidena

159. The classical biocontrol agent used to control the papaya mealy bug is

(A) Chrysoperla carnea
d Acerophagous papayvae

(&) Cryptolaemus montrouzeiri

(D) Bracon hebetor

(E) Answer not known

buoufefl wreyuysfleow s EUUESS LweauBL SApps o wlflue Y&ds s EUUILE
Siyestl :

(A) SHegCenQuirem smiafwm

B) - =#CrrCusev LOLTCW

(C) &NuGLredwen wrer QrerGamfl

(D.) Wyasmenm Qe it
E) oL OsAueidame

® _ 79 | ' AHOD/2021
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160. The fumigation period for aluminium phosphide in storage godown is

(4)
v
D)
(E)

Two days
Ten days
Five days
Seven days

Answer not known

Cefliy fmgseld, gbelud urdeul elayeumy Q_lpl_rra;@ Q&b @ungz
PPLTEEDETET ST iaTa]

(A4)
(B)
©)
D)
(E)

161l dn betweén banana suckers

@nan(®H B ser
UGGl BIL&6T

BHF prLseT

(P BILGET

eflen Qs flwelerenen

plant to manage nematodes

A)
B)

(0
(E)

Castor
Chfysanthimum
Marigold
Coriander

Answer not known

UTEMPESL DL &@EH&@E  HhHeled
By pé&samer & (HLULHSSHID

(A)
B)
©)
D)
(E)

AHOD/2021

LD,
dlengampgliond
FmopHs)

el

clilenL GgMwaeilcrencd

80
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- 162. The proportion of bait material to the rodenticide zinc phosphide is

163.

% 49:1

3B) 99:1
(C) 1:49
(D) | 1:99

(E) Answer not known

erllas Hurtiged, olest@uml eassb Curs o araL QurpEpdEEd  grié
ureveru® erell elassHn@d 2 drar eldlgn
A) 491
(B) 99:1
© 149
(D) 1:99
(E) slen Qg flwaelerene
Wine is prepared from the fruit ‘
(A) Apple /) Grapes
(©) | Lemon (D) Orange
(E) Answer not known
ULRE gUnaib (meue) aeang&asTeam® o (heurss iuG&ng ?
@A)  wyuGer B) Sy es
©C) eagisms (D) 2BTEHE
(E) e AsMuieddans |
81 ' : AHOD/2021
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164. The TSS at the end point of jam is

60 — 65° bricks |

.d 68 — 70° bricks

(C) 75— 80° bricks

(D) 80— 82° bricks

(E) Answer not known

gmb  surflé@gd Qumps g6 @g}]ﬁ;ﬂmmu&]di seoqub Hodunmefer ara)

- 8 QHES CeuaiT(®) LD

(A) 60— 65° Aflded

(B) 68—70° Gfi&ev

(C) 75-80° Ofisev

(D) 80 -82° Yflsev

(E) &l Qaflweiideana

165. Write the percentage of pectin required to produce good jelly

A 2%
B) 2.5%
©), 3.0%

J 1.0%

(E) Answer not known

poe Qo swurflés Quaiger SieaTey aeauare) @més Coaa@mm@in

(A) 2.0 s>
(B) 2.5 ssi>
(C) 3.0 s8>
D) 1.0%swb

(E) &l Qzsfweildeme

AHOD/2021 - | @



166. Which fruit used for candy preparation?

167.

A4)
(B)
©

E)

Ber
Aonla

* Ginger

All of the above

Answer not known

Spssea erg W LT Qe LweTu@Ib ?

@

®)
©)
o)
()

Pre

Qopos
@peall

B erél
DTG FILD

Mer QgMwefdama

rvation of cut flower is by using

Sugar

(B)

©

D)
(E)

@eupmier e7g) QEmiweey UNGETES LTI

A)

- (B)

(©)
D)
(E)

Alcohol
Acid
Salt

Answer not known

FT&ESHen

ST

2leod

2 Uy :
fenL_ QsMwialdena

83
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168. Which instrument is used to measure the softening of tissue as an index of maturity?

A)
(B)

(D)
(E)

Hydrometer
Thermometer
Penetrometer

Hygrometer

Answer not known

$l& QeTUTSM 6TES THES a;@sﬁll vweruRE g ?

(A)
(B)
(©)
(D)
(E)

169.

avanl Gym B
QzrGm B i
Quefl: Cym S
@anaCy BLLi

cllen Qg flwelcenay

A)
©)
(D)
(E)

is used to prevent sprouting in potato during storage.
2,4-D

Maleic Hydrazide

_IAA :

ABA

Answer not known

2 (HeneTédl LphIE G&Lﬁ?é;a;ﬂu@mGurrgj. gHu@d eetiiLsHpaar &H&s

Lweru R Slenmg.

A 24-D

(B) Maleic Hydrazide
(C) IAA

(D) ABA

(E) &fen Qgflweiidrenew

AHOD/2021
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170. Distance between grower and layer poultry shed should be minimum of

171.

(A) 100 feet
(B) 200 feet
300 feet

(D) 400 feet

(E) Answer not known

euariGamfl whmib e Casmf Qasrn'_l_smas&@ @eL Ll L @onpsuls Qe Qe

(A) 100 =g
(B) 200 =i
(C) 300 =4
(D) 400 =i

(E) G}S]GDI_.Q'&,[ﬂU_IGS]E‘UGmGU
: e

Feeding space required for layer chicken in deep litter system is

(A) 5cm
10 cm

(C) 15cm

(Dj 20 cm

(E) Answer not known

B PsaeT apepuiled eueatissLILEL WleL Camflssrar Seuar @)L ausd

(A) b5Qs.5

(B) iO Q&.15
(C) 15Qs.8
(D) 200s.8

(E) dflevr Gsflwelecrenen

85 AHOD/2021
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172. A breed of goat with long pendulous ear is
~Jamnapari .
(B) Tellicherry
(C) Kodiadu
(D)  Sirohi

(E) Answer not known

BT L &anlqll STEG@ET 2 L CleuETamTLig @D
A)  geparrunfl

B) s@wsGsf

©) Q@smg 246

(D) AGyrsl =06

(E) e&fer Qzflweiidana

173. In goat, kids are weaned at —— of age
(A) One month
(B) Two months

{l Three months

(D) Four months

(E) Answer not known

Qeuatemm_ () GLiyser sl @bg iQurpg WRlssLLBD
A) 1 w1 wwde '
B) 2 s wwdad
(C) 3 wrs euwde
O 4 wrs awdd
(E) oleor Gsflwellievenaw
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174. The maximum permissible moisture percentage in dairy animal concentrate mixture

175.

18

A 5%

B) . 8%
11%

D) 20%

(E) Answer not known

speel LTHSEREGTaT 3L TSauarsde @mssCoauanyu sl s Friug sseldsd

QA 5%

B) 8%

©€) 11%

(D) 20% 5

(E) o&fer Qaflweiidana

Floor space requirement for a dairy bull under covered area

A 5m?

(B) & m?
2mt

M) 18 m?

(E) Answer not known

@ Qurel sraers@ Cameuwrar QsTLams @)L 6y

@A) 58
B) 8.5
(© 128
D) 188

(E) &flen Gzflwellcrenew
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176. Castrated male cattle is called as
(A) Bull (B) Buller
@ Bullock : (D) Heiter
(E) Answer not known
g @mew Basd delwtiul L wrigamer eI SIPPESLILEHID ?
(A) Qunellsmener : (B) yevevrr
© eos _ D) ACLA
(E) &lleor Qsfweldene

177. Crogsbred cattle suitable for plains of Tamil nadu is
J Jersey : (B) Holstein Friesian
(C)  Brown Swiss (D) Ayrshire
(E) Answer not known |

sl priger subeuail LEHeg ghp solber Us @eard

(A) Qgirél : (B) Cammévevent e Gfélwar
(C) Qreyer avedlen (D) Swienswir

(E) oleor Gzfweldvena

178. As per 2012 all India livestock census, sheep population in India was
(A) 48 million (B) 4 50 million
(C) 61 million J
(E) Answer not known

65 million

2012 b Yah deo @QpHu sropa. sarstspuldaruy @bHurald @QmHBS
 Genwflur@saier aaraflsms '

(A) 48 Boedwenr ~ (B) 50 Wé@elwar
(C) 61 Waalwer ; (D) 65 Boalwer
(E) &ler Qzflwelidena
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179.. Match Column I and Column II:

180.

Column I Column II

(a) Edible mushroom Ganoderma Lucidum

1

(b) Poisonous mushroom 2 Agaricus Bisporus

(¢) Medicinal mushroom 3.  Amanita Phalloides
4 Amanita Muscaria

(d) Bracket mushroom

@ b - @

LX)y 2 1 4 3

(B) 3 2

(C) 4 2 1
4 1 2

(E) Answer not known

w W s

auflens I oy II g Aummsgs :
auflens 1 aufleng 11

CaGanmGirom gyflLib

(a) o ewreyssmaTem

(b) pEss smarmew srissen evuevCumyev

(©) wBHE sraTTe
(d) 50 srermer

sjorair L GuGamLadl

e, 00 B

Sworefll_Lr wevasrilwm

@ ® © @
A 2 1 4 3
B) 3 1 B 2

4
() 4 2 1 3
3

D) 4 1 2
(E) - aflen Gsflwelidvene

An example for Bioluminescence mushroom

(A) Marasmius (B) Ganoderma
(C)  Agaricus Omphalotus

(E) Answer not known

@l gafmb sTaTTENsdE @T 2 STyenTid

(A) mqnefuuﬁ]u.:sfu B) Cslarm@Lfom
(C) srhssen D) gbuGar v
E) ofer Qzflwelerensy .
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181. Equipment used for the sterilization of glasswares in the mushroom laboratory

(A) Microwave oven

(B)  Autoclave
d Hot air oven

.(D) ‘ Pressure Cooker
(E) Answer not known.
sreTTeT g uleustisafled a;s&zsrsaufrrtq_u QumLseer GsTHm ﬁéaas_ﬂ: Qe LweTUEID
2 LIGIJeRTLD

A) ewsGymGeucu gaeuer
B) = CLrflGereu

(Cj QDL 61T GREUGHT

D) Qe Gasi

&) o Daluioas

182. What is the mixing proportion of CaCOj3 in the sorghum grain medium on dry weight

basis?

A 1%
M 2%

C) 3%

D) 4%

(E) Answer not known

sroflwn sriuCar e Carar algg oo ssder 2 o aal lfssde eeieiare) Caiés

Ceuar(Hb 2
A 1%
B) 2% -
© 3%
D) 4%

(E) dflen Qaflwelerens
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183.

184.

Exgmple for a fungal bio control agent

Fluorescent Pseudomonas
(B) Trichoderma Viride
(C) Bacillus subtilis

(D) Xanthomonas oryzae

(E) Answer not known

erdlim 2 Wil YeemgdmE 2 gmyenTd

A) uwCearmCrraer. @&GLrCwrarmen

B) wersCasrGLirom G)gllﬂ.Lq_

(C) CGuélerawav gLigadlev

(D) smpgrCuorarmey earGs

(E) oleoL GQsflweliléene

What is the antibiotic produlced by Pseudomonas fluorescence during bio control
process? :

G Penicilin

(B) Streptomycin

W Pyoluteorin

(D) Bulbiformin

(E) Answer not known

o @Wfwe weop GCpmu Hieurs LAfSmandar Curg @&GLIGwrarmey yGermyaerey
2 Husd Gaiiyid Crmi ey QummET (6irgUWITG&E60) 6T ?

A) Guaiflodiar

B) e QruGLrenw&ler
(C) e@uCurgrfer
D) velGunidesr
(E) e&flev Ggflweiicrena
5 AHOD/2021
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185.

186.

Tetrazolium test is used in seeds to determine
A Seed viability

(B) Genetic purity

(C)  Physical purity

(D) Seed size

(E). Answer not known

efleng&arflesm FTeIIMSLI LeTenLs Siworaflss QL prGameSlwib Gergener

- uweruBHssLuGE DS

A)  dflengufem BOLSSSETE OGN

(B) wruan gnuemwew

(©) wrugy @ers @sT Fnimwenw
(D) aﬁleu-u,suﬁlm S|aTEEU :

(E) ofen Qgrﬂ'u_laﬂsbmm

A nearly homozygous line developed by continued in breeding accompanied by
selection is called

(A) Synthetics
(B) _ Composids
Inbred
(D) Multiline.
(E) Answer not known
&G  Qasr@ssuu_eraraupalimpg — Qsriisfluner  gear  waybss  Cerses
@aribdumésd ppeb o peurssiiul L CaprCGuoremssey &bsd gl eram GO S.
Q)  Qswpes Faid “
B) seoma ysbd _
(C) ger wajpss Ceisams Fad
(D) serpassseaTmL THD
(E) e Qsflwueldame
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187. The objective of hybridization is to create

188.

(A)

B)
©)

®)

Homozygous
Pure lines
Genetic similarity

Genetic variation

- Answer not known

solbend CQeeuger Crrésd ereme?

(A)
B)
©
D)
(E)

Which of the following line has higher genetic purity?

A)
£
(©)
®)
(E)

Yemeumeuareupiled erg SiHla wruE (=) @ars gnuemw QsTar g

(A)
B)
©)
D)
(E)

CanrCivrengsev
gruafl spss
LILE GHDIEL
orugy Caugun®
eflenL GpMwellerane

Registered seed

Breeders seed

-Foundation seed

Certified seed

Answer not known

udley Qeuwtiul L flens
ausgarnt allens

2y eilens
grampefldaliul L lang

e ApMueiidama

93
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189. An example for Chemical Hybridizing Agent (CHA)
(A) HgCl '
(B) Ethanol

 Ethrel
D)

(E)  Answer not known

GeraumeamainBler opam WO HF SET@LOL 2 (HauTss’ LuaLEDL Gaufl Qummer
aTg?

A) Quirafs @Cermany@

B) easzamd

©) asdlye

D) rerwerev

(E) &l Qaflwelidvene

190. Tamil monthly magazine published by TNAU is
(A) . Velan Madal
(B) Velan Kathir
M Uzhavarin Valarum Velanmai
(D) Tamilzhaga VeIanrﬁai |
(E) Answer not known

spETH Geuatnamenn LIGsmOS 50a55Td GauafuliL®b wrg Geuerrar @sp
(A)  Geuernair L ' -
(B) Ceuarmenr sflir

(C) 2peuer euermd CeueTmamenio

D) slys Ceuarmamrento |

(E) &le Qsflwelerenew
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191,

192,

Find the odd statement regarding the principles of Extension
(A I Principle of cultural difference .
(B)  Principle of learning by doing -
(C) Principle of interest and need
- Principle 6f authority
(E) Answer not known

Epssean_ Geuarmerr cflfleunss Carur@aeaiey seuprear Gasrrl'_urn_'_tq_cmeﬁr ST,
(A) songsy Gmgur;L@é; Camri_um()
(B) Qewsdler eped sHpmed Camum

(©) yieubd wppib Csmes SgLiLmLLdamer Gash;urr@

(D) <odsny @emﬁ)uﬁ}mnm Ga;rn'_urr@

(E) oo Asfucidme

“Quickest to use tried ideas in their own situation and referred as adoption leaders”.

The above statement refers to
(A) gInnovators
M Early Adopters
(C) Early Majority
(D) Late Majority
(E) Ahswer not known
ufiCerdlsiiu L. Ggmfleds mlumsmar @sdle Grudubdsuaisd, LHHID
QEwbUT (DS FHOOUTHET GTET BeNLPESLILI{HLIGTEHET '
(A)  sar@NguraTiger .
B) wso flee Cuop@arerusuiger
C) wermixyCu Qerupgueiiser
(D) smwgwrs erunmGeuniser
(E) &flen Gsflweldenew
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193. NAFED stands for
(A) National Agricultural Federation
(B) National Marketing Federation
(C) National Fisheries Education
National Agricultural Co — operative Marketing Federation

(E) Answer not known

Gpuc. (NAFED) erénus,

A) GCsflw efleusmu @enemTuid

B) Csélu speang @enewmid

(C) - Cﬁ,e_r,aﬂm WBetreuer Hevadl

D) Csélu sflaismu s Gney sp@s Goamuid
(E) . ofen Qsflweldenay

194. Which one of the following function helps in protectmg the quality and quant1ty of
the produce during transportation and storage?

(A) Processing

d Packaging

(C)  Grading

(D) - Warehousing

(E) Answer not known |

@Lormppid wopw Cslssdar Gurs Qur@mlseiear srpb LHMD D@6 GODWITOD
UNTgIsM&@b Gewudun®) erg? _ :
@) upaGse

B) Auudb@pse
(C) sy Gfss

D) ALrde Csiss

(E) e Qsflweleena
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195. Storage, Packing, Transportation, Grading and Distribution of commodities are
classified as '

196.

(A) Exchange functions

(B) Facilitative functions

(C), Primary functions
J Physical movement functions

(E) Answer not known

Cellgsea, aﬂuuuS]@g,m QLbEuwigged, bl rﬂg,}sd.\ wHpb  QurpLsemer
ABCwndlszena - Qeweur_iqe GQsrereremb.

A) vy Qeweur®

(B)
(©)

)

(E)

Ve

(B)
©)
(€0))
(E)

2 gal Gaweum@

Wserend QFwduTH
Gavafiiyp Quiss Qeweun(
v Qs flwelicvena

markets are located in towns near the centres of production of

ultural commodities.

Primary
Secondary
Terminal
Re gional

Answer not known

Ceuarmer Guimper a,rou§;ﬁu_|rr@m @L_}sﬁ;p@ cg{@asrrmmuﬁlm 2 @reT BEISSlD DMOHS

ghengufler GLwi : 4 GLD.
" (A) Yenmof

B) QsserLf

©) GQrmdere -

D) Feared

(E) &e Qgsflwelicvenew
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197. A number of enterprises are taken up on the farm at the same time is referred to as
(A) Dry farming .
(B) . Specialized farming
Diversified farming
(D) Mixed farmiﬁg

(E) Answer not known

28y Gpysde v Qsmfasemar Gm_@@énm@m_ LIGRTenemT  (LPEenD Greur
Quuwiru@d. '

(A) LDITG&TITGL‘IHHIﬂ LIGRTENGWT (LPEHD

(B) mGh;rgGuJ.a; LIGTEnGRT (LPEOD :

©) . LeUMSILI(HSSD LG LpenD
D) seuy ugTeneRT @em;_u

E) e Asfucideme

198. The Science that deals with orgahization and operation of the farm as measured by
the test of profitableness is known as :

(A) Production management
(B) p Materials management
Farm management
(D) Pest management
(E) Answer not known
@erusywrer G@Jéﬂram LiaimepenTulen SiepoliL WDHMILD. Qeweur e updu sidleslwued
ereriu(heug). : : :
A) 2pusd Coerarew
B) @reQurmear Cueramanto
©) uveameen Guoeonameno
D) y&d Crmiu Cueremmeno
(E) &lleor Qsflweiiédvena
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199. Front line demonstrations are conducted by
' KVK -
(B)  Research stations
(C) Farmers
(D) Private firms
(E) Answer not known

: W& Hleve Cewdwean faTsssms HLSgLaTEET
(&) - Gasmer sflefiug e
B)  yrmiusd HpeueThiser
(C) eeusrGser
D) seflunt Hpeuerhisar
(E) eler QsMwelcrenay

200. ————— refers to those events or occurrence of which no probability values can be
attached.
(A) - Risk
Uncertanity

(C) Game theory
.(D) Decision theory

(E) Answer not known

Blapssey .e.'.uc;er)l.L)qurre_r-J GeuafliumRsemer eren&lGomid.
A)  @urusHpCageurang

B) Aoeupps

(©) eleverwun () QAsrarans

D)  ylau@ssd Qsrarans

(E) éS]anL_ Qs flwelierency
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8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination. you must hand over your answer sheet to the invigilator. You are allowed to
take the question booklet with you only after the examination is over.

9. You should not make any marking in the question booklet except in the sheets before the
last page of the question booklet, which can be used for rough work. This should be strictly
adhered to.

10. In all matters, the English version is final. :

11. Failure to comply with any of the above instructions will render you liable for such action as the
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